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(54> — 7)(5x — 9)

(Tx + 6)(2x* + Tx+ 7)

(8x° — x— 1)(2x — 8)

(8x+ 4)(x* — 9x— 9)

(6x — 2)(x +2)

=N

(5x + 6)(6x — 3)

@+ 3P (x+7)

(7x* = 2x—2)(7x + 1)

4+ 2 (Tx+ 1)

(4—6x)(5x+4)
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(52 — 1(5x— 9)
25x> — 45x% — 35x + 63

(Tx+ 6)(2x* + Tx+ 7)
14x° + 61x% + 91x+ 42

(8> — x— 1)(2x— 8)
16x° — 66x% + 6x + 8

(8x+ 4)(x> — 9x— 9)
8x° — 68x% — 108x — 36

(6x— 2)(x +2)
6x> + 10x — 4

=Rt
(5x+ 6)(6x — 3)
30x% + 21x— 18
@+ 3P (x+7)

3 + 210 + 4x + 28

(72 = 2x = 2)(7x + 1)
49x° — 7> — 16x— 2

4+ 22 (Ix+ 1)
145> + 20% + 28x + 4

(4—6x)(5x+4)
—30x% — 4x + 16
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